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Q3: Lightning Spell

(15 points)

Description

Clash of Clans is a real war game. The goal of this game is to destroy all the opponent’s buildings.
Today, Mr. D and Mr. N are discussing what the optimal strategy to cast the lightning spell is. In
order for you to join the discussion, they decided to explain the rules of the game to you. In the
game, every clan owns a N X N village, in which they build M non-overlapping buildings in their
village. Each building occupies a 3 X 3 square. The attacker can cast spells to destroy the
buildings. The spell they brew today is the lightning spell. A lightning spell will destroy all the
buildings in the area of a 5 X 5 square with the corners removed (as the following image shows:
the orange square is where the lightning spell is cast, and the blue + orange squares are where
the lightning spell can hit buildings)

When a lightning spell is cast, any buildings covered by the area will be destroyed. The greedy
Mr. D and Mr. N want you to calculate how many buildings they can destroy with a single
lightning spell.

(The buildings and the center of the cast spell can't be outside of the village, but the affected
area of the lightning spell can lie beyond the boundary)

Input Format

The first line contains two integers N and M — the width of the village and the number of
villages.

Next M lines contain buildings — one per line.

Each building contains two integers X and Y — the location of the building.

It's guaranteed that the buildings do not exceed the boundary and do not overlap each other.

Output Format

Print an integer — the most buildings you can destroy with a lightning spell

Data Range
e 1 <N <10000
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Example Explanation:
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Input Example 2
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Output Example 3
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